
Axial Fit (gap)

1. What is the axial ‘allowance’ between the wheel subassembly and the shaft ___________

2. What is the axial ‘clearance’ between the wheel subassembly and the shaft ____________

Allowance = Smallest Hole – Largest Shaft

Clearance = Largest Hole – Smallest Shaft

Allowance:

Smallest Hole = _____

Largest Shaft = 1.5 + _____ + 1.5 = 83.83

= _____

Clearance:

Largest Hole = _____

Smallest Shaft = _____ + 80.50 + _____= _____

= _____

Allowance: the minimum allowable difference between mating parts

Clearance: the maximum allowable difference between mating parts

Axial Fit - Tolerance Analysis
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Lecture Class Assignment #12 Axial Tolerances, Fits and Limits

Note: This is the type of analysis I want you to do for your design projects 

(See Design Project Appendix – 3. Tolerance Analysis)
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